

$$\lim_{x \rightarrow \infty} \frac{\ln^\alpha x}{x^\beta} = 0 \quad \alpha, \beta > 0$$

•  $\alpha, \beta \in \mathbb{N}$

$$\lim_{x \rightarrow \infty} \frac{\ln^\alpha x}{x^\beta} \stackrel{\text{L'H}}{=} \lim_{x \rightarrow \infty} \frac{\alpha \ln^{\alpha-1} x \cdot \frac{1}{x}}{\beta x^{\beta-1}}$$

$$= \lim_{x \rightarrow \infty} \frac{\alpha \ln^{\alpha-1} x}{\beta x^\beta} \stackrel{\text{L'H}}{=} \lim_{x \rightarrow \infty} \frac{\alpha(\alpha-1) \ln^{\alpha-2} x}{\beta^2 x^\beta} = \dots = \text{opulsome}$$

$$\lim_{x \rightarrow \infty} \frac{\alpha!}{\beta^\alpha x^\beta} = 0$$

•  $\alpha, \beta \in \mathbb{R}$  stejne  $\rightarrow$  az do okamziku, kdy  $\alpha - k < 0$

$$\lim_{x \rightarrow \infty} \frac{\ln^\alpha x}{x^\beta} \stackrel{\text{L'H}}{=} \lim_{x \rightarrow \infty} \frac{\alpha \ln^{\alpha-1} x}{\beta x^\beta} = \dots =$$

$$\lim_{x \rightarrow \infty} \frac{\alpha(\alpha-1) \dots (\alpha-k+1) \ln^{\alpha-k} x}{\beta^k x^\beta} = 0$$

$x^\beta \rightarrow \infty$